1.

545 ofH 42 Wrel 3 gt throfdol 7] she 4 25

AAU7E?

> E:

> =eh sA

™
=~

519) 48

Ayt

5t 1, 2, 3, 6, 9, 18, 27, 540]|P 2 H%F 8




728 o 2 Uireln gt Wirelgol 7] she Aedst n
2 A7

g i

>
> "HE D 127

B ‘

olH &5 Yooz o= & ofH 9] ofpo|BZ 72
9] o=

1, 2, 3, 4, 6, 8, 9, 12, 18, 24, 36, 72 Y},

— 1274




3, 6, 99 HaFHlPE oA L.
B

>
l> b= 18

okl =

B

3) 3 6 9
1 2 3

3,6,99 AT 3x1x2x3 =18




(1) (20, 48) 9] A= |,
Hzg[ ]

(2) (36, 30) ] Zdlgers[ ]
22305

@ (1) 4, 240 (2) 18, 240 @ (1) 6, 180 (2) 18, 180
@(1) 4, 240 (2) 6, 180 @ (1) 6, 240 (2) 18, 240
® (1) 4, 180 (2) 6, 180

~&B

(1) 2) 20 48
2) 10 24
5 12
- HEFS t 2x2=4
FAFH D 2x 2% 5 x 12 = 240
2) 2) 36 30
3) 18 15
6 5
- RS 2x3 =6
HAaFH4  2x3x6x5 =180

—
[\




H o] z}2] o] S22b7E 5 Q1 Al AF=] 5= Foll M 7 2 39 vl F-a)
Ale.

D 595 @ 596 @597 @ 598 ® 599

39 Wi 2 248 %249 go] 3] Wj4ol@ 1 4k 39
wj4=<i U .
wheb 5970] 7Hg 2 3.9 wj4giy e,




2em Q) FAIG O Fet
Bope] AAAFL HEAEU. BE 5 U
AGUrA? (&, S mofo] 2o AAZF L 2

il

RO WE 4 I AAAEL

1x28 =28, 2x14 =28, 4x7 =282 37/0dYc}.




7. b2 Sem, A2 12em 9 HAZFY BOFO] FolF ofo] 7bg AL
AR Fol2 WE ) AAzg el Folk @ Aol BRI
> g

1=

o3

B ~

83} 12 9] | A-Fuj47t A 9] gt ¥ o] Aol7F Hyth
2)8 12
2)4 6

2 3
87} 129 H|AFHTE2x2x2x3 =240]28
ALY 3F F O] dol= 24 ecm YUt}

IR 124+ 8 =3(F)
A2 24212 =2%)
wrehA] AALBL 3% 2 = 6(F) ©] WaFgct.




F1 571 75 A @ FHeHAAS 30 A2 © FUpHAZE el Sof
743 ik 8)71et7] ol HERE RoIH BU7F 4&0 thA
WY, 0, @ BRI 212 B HhAlE Sofo} s1A) Al
A2

> =
> =
> Hg: 2
s =

75 9} 30 o] FAFHSE 150 ©]|EE FY 150 7 EEEof
A5 HEHYE U712 oA dEY A Y

et @ FUEHFE 150 = 75 = 2 (8H9), @ FYHHE
150 + 30 = 5 (¥H]) =otoF gt




